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0562854282 Mr Tarek Ali Jady ) adlla O JSup 2023 clbual 2-1

Write an equation for each sentence.

1. Two added to three times a number m is the same as 18.

2. The prodiict of five and the sum of a number x and three is tweglve.

3. The quotient of 24 and x equals 14 minus 2 times Xx.
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4. Nine times a number y subtracted from 85 is seven times the suim of four and y.
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Solve each equation.
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Solve each equation.
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Solve each equation for x. Assume a # 0.

18. ax + 3 = 23 19.4 =ax— 14
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Solve each equation for x. Assume a # 0.

20.ax— 5 =19 21. 6 + ax = —29
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Solve each equation for x. Assume a # 0.

22. 2 _.5=_3 23.18 — ax =42
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Solve each equation for x. Assume a # 0.

24.5:%+1 25. —3 = ax + 11 26. —/ = —ax — 16
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Solve each equation. Then graph the solution set.

1. In-3|=5 2.7 +10| =1

———— — ———
-3-2-1012 345673829

— el

= o
,3« (T
! o2
'R | N
3 3
- O
0o
.qj N

N 1

l 3

& i
N (o

< (R
Yy b
N P
© 3
7o) .
o oL

0562854282- lc (3th /3uY 9




0562854282 Mr Tarek Ali

Jidy ) adiia 9 JS 2023 <bualy, 2-5

Solve each equation. Then graph the solution set.

3. lv—2|=-5

R —

4. |4t — 8| = 20
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Solve each equation. Then graph the solution set.

5. 18w + 5| = 21 6. 6y—7|=-1

M—_
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Solve each equation. Then graph the solution set.
2 % 4 5= —3 8. |2y +6|=6
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Example 1 Solve a Proportion

Solve the proportion. If necessary, round to the nearest hundredth.
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Check

Solve 2 g e % If necessary, round to the nearest hundredth.

A. 16
B. 9.33
C.8
D. 4.75
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Example 2 Solve a Proportion with Two Missing

Quantities
X _2x—3
Solve 9= " 327 - If necessary, round to the nearest tenth.
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Check
2x — 5

Solve% = =g If necessary, round to the rearest hundredth.
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&9 Example 3 Solve a Proportion by Using
a Constant Rate

GEOGRAPHY Parts of Mexico City are sinking at a rate of
140 centimeters every 5 years. If this rate remains censtant, how
many centimeters wiil the city sink in the next 12 yeaars?
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Check

MIXTURE Oscar makes fruit punch to sell from his focd truck by mixing
8 parts cranberry juice to 3 parts pineapple juice. How many cups of
pineapple juice weuld Oscar need to mix with 48 cups of cranberry
juice to make his punch? 2 cups
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Solve each equation or formula for the variable
indicated.

1. x— 2y =1, fory

2.d+ 3n =1, forn
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Solve each equation or formula for the variable
indicated.

3./f+g=5, forf

4. 3c — 8d =12, forc
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Solve each equation or formula for the variable
indicated.

5./t = x,fort 6.r= wp, forp
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Solve each equation or formula for the variable
indicated.

7.9 —r=rforr

8.4m —t=m, form
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Graph each equation by making a table.
5.y — 8= —x
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Graph each equation by making a table.

6. x=10—y
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Graph each equation by making a table. 1
7. V= 5 x+1
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Graph each equation by making a table. 1

.v+2=—x
Y 4
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Find the x-intercept and y-intercept of the graph of each equation.

20. 5x + 3y = 15 21.2x — 7y = 14
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Find the x-intercept and y-intercept of the graph of each equation.

22.2x — 3y =5 23.6x + 2y = 8
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Find the x-intercept and y-intercept of the graph of each equation.

2

24.y:%x—3 25.y=§x+1
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Find the rate of change of the function by using two points from the table.
1. 2.

y
5 2 |
10ﬁ 3 71
15 4
2C 5
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3. POPULATION DENSITY The table shows the population
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density for the state of Texas in various years. Find the average

annual rate of change in thie population density from 2000 o
20009.

0562854282- A= (3th /3Ly

2023 <lualy,

1980 54.3
2000 719.6
2009 96.7

Source: Bureau of the Census,
U.S. Dept. of Commerce
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Write each equation in slope-intercept form.

9. —10x + 2y = 12 0.4y +12x =16
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Write each equation in slope-intercept form.

M. -5x + 15y = —-30 12. 6x — 3y = —18
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Write each equation in slope-intercept form.

13. 2x—-8y = 24 14. —4x — 10y = —7
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Example 1 Vertical Translations of Linear Functions

Describe the translation in g(x) = x — 2 as it relates to the graph of
the parent function.
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Check

Describe the translation in g(x) = x — 1 as it relates to the graph of
the parent function.
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Example 2 Horizontal Translations of Linear Functions

Describe the translation in g(x) = (x + 5) as it relates to the graph of
the parent functicn.
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Check

Mr Tarek Ali Jady ) adlla O JSup 2023 <ilusl

Describe the translation in g(x) = (x + 12) as it relates to the graph of

the parent function.
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Example 3 Multiple Translations of Linear Functions

Describe the translaticn in g(x) = (x — 6) 4+ 3 as it relates to the
graph of the parent function.
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Find the common difference of each arithmetic sequence. Then find the next
three terms.
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9.0.02,1.08, 2.14, 3.2, ...

10. 6,12, 18, 24, ..
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Find the common difference of each arithmetic sequence. Then find the next
three terms.

11.21,19,17, 15, ... 12. -5, 0,5

? 21 11 aee
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Use the graph of the function to write its equation.
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Use the graph of the function to write its equation.

9. f(x) 10.
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Use the graph of the function to write its equation.

1. 12.

B

= o
,3« (T
! o2
'R | N
3 3
- O
0o
.qj N

N 1

l 3

& i
N (o

< (R
Yy b
N P
© 3
7o) .
o oL

0562854282- lc (b 3Ly 44




0562854282

Write an equation of the line that passes through the given point and has the given

slope.
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1. (4, 2); slope >

2. (3, —2); slope %
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PR 2023 cbal, 54

45

o
a
(<)
N
00
(3L
»
N
00
N

1

(s

C
b
—
L
3
‘én




0562854282

PR 2023 cbal, 54

Write an equation of the line that passes through the given point and has the given

slope.
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3. (6, 4); slope —% 4. (—5, 4); slope -3
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Write an equation of the line that passes through the given point and has the given

slope. : .
S. (4, 3); siope 3 €. (1, —5); slope —5
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Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation. _‘

25.3, -2, y=x+4
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Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation.

26.(4, —3);y=3x—5
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Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation.

27.(0,2): y = —5x + 8
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Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation. :

28. (—4, 2);y=—§x + 6

= o
,3« (T
! o2
'R | N
3 3
- O
0o
.qj N

N 1

l 3

& i
N (o

< (R
Yy b
N P
© 3
7o) .
o oL

0562854282- lc (3th /3uY 51




0562854282 Mr Tarek Ali Jady ) addia O S 2023 clual 5-2

Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation.

29.(~2,3)y = —3x + 4
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Write an equation in slope-intercept form for the line that passes through the given point and is parallel to
the graph of the equation. Then write an equation for the line that passes through the given point and is
perpendicular to the graph of the equation.

30.(9,12): y = 13x — 4
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Find the inverse of each function.

16.f(x) = 8x — 5
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Find the inverse of each function.

17. fix) = 6(x + 7)
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Find the inverse of each function.

18.f(x) = 3x + 9
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Find the inverse of each function.

19. fix) = —16 + 2x
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Find the inverse of each function.

20. fix) = 2
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Find the inverse of each function.

21. fix) = —2H
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Solve each inequality. Graph the solution on a number line

37. zm<—17 38. 5 a < 20
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Solve each inequality. Graph the solution on a number line

39. -1 > —2 40. -2 > — 4

= o
% o
3 i
5;3 t

(0]
.qj N

i 1
l 3

N 1
g 3
0 -
(o 0] ~
N L
Q 3
(p] .
= 2

0562854282- lc (3th /3uY 61




0562854282 Mr Tarek Ali Jady ) addia O S 2023 clual 6-1

Solve each inequality. Graph the solution on a number line

X f
41. -10= = 42. —72 < —g
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Solve each inequality. Graph the solution on a number line

16. —3(/n + 3) < 6n 17. 21 = 3lg — 7)+S9
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Solve each inequality. Graph the solution on a number line

18.2y + 4> 2(3 +y) 15.3(2 — b) < 10 — 3(b — 6)
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Solve each inequality. Graph the solution on a number line

20.7 + =2t +3) + 2 24.8a + 2(1 — 5a) < 20
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Solve each compound inequality. Then graph the solution set.

3.y—1=7o0ry+ 3 < -1
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Solve each compound inequality. Then graph the solution set.
4. t+14 =>15Bort—9 < —30
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Solve each compound inequality. Then graph the solution set.

822=24m—2o0rb5—-—3in< —13
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Solve each compound inequality. Then graph the solution set.

O9.—y+5=29o0r3y+4< -5
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Solve each compound inequality. Then graph the solution set.

14.5n— 1< —16o0or—23n—1<8
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Solve each compound inequality. Then graph the solution set.

16.y —5< —4ory—5=1
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Write a compound inequality that describes each graph.

20. ' . > .
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Write a compound inequality that describes each graph.

. s - - o ——— g e Y e

4 32 14,08 1 2 % ¢ %9 43240 1.2 3 4
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Write a compound inequality that describes each graph.

23, e ——— Oi=p> 23. . ° A ——
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